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What is Mighty Math?

Mighty Math is a series of workbooks designed to support the Math Curriculum. Each
book is a culmination of many years teaching experience by the author. By using these
books, students can practise and discover the mathematical concepts and principles that
are essential for success in school mathematics. The pages provide 9 - 12 year old
students with both reinforcement and extension to their normal school mathematics
lessons. This allows them to maintain the skills that they already have and helps to
overcome any weaknesses. The pages can also complement school lessons, helping the
student to develop faster in mathematics, and give them a "head start” in class.

There are 8 books in the series for 9-12 year olds. All can be downloaded for FREE.

The series covers all the strands and relevant age group levels of Mathematics in the
New Zealand Curriculum: Number, Measurement, Geometry, Algebra, and Statistics.
Within these strands, students will get practice at: calculating, estimating and using
measuring equipment. We are sure that the work will fit into any mathematics
curriculum.

If you use the sheets often, or if you just find Mighty Math really useful then you might
consider a $2 donation. Send your money through PayPal: admin@mahobe.co.nz
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- FilL iN THE
NVMBEK5 G4iVEN THE L/ES AcRoss/

ACROSS - WRITE iN NUMBER

I NINETY FovR

Z THREE

23 EiqHT HUNPREP ANPD FoRkTy SEVEN

& TWo HUNDREp AND SiXTy

8 TWENTY NiNE THovSAND ANp THiRTY SEVEN

10 NiNE THOVSAND NINE HUNPREP AND NIiNETY NiNE
12 THREE HVWNDREP ANP FoRTY TWo

13 FovR HVNPREP AND SEVENTY THOVSAND 4 NiME HUNpRED AND

I5 5iX HUNPREP ANP FiFTEEN
16 FiVE THOVSANP ANP NiNE
I7 TWo HUNpREP ANV TWO

18 FiFTy EiaHT
14 NiNETY NiNE

PoWN - WRIiTE vsiNG WoRDS

TWENTY ONE

T TN T My wN

14
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Write these numbers into the Hexanumber.

(3] oNE HuNpRED AND ELEVEN ONE HUNPREP ANP TWo
8 (z2) Twene o (2] six HUNPRED Awp EiGHTY TWO
(2] Twe MousAND 5% HUNPRED [¢] six HuNpREP AND FORTY FOVR
} AND NINETY SEVEN TEN
(5] THiRTY TWo (3] sEveN HUNPRED ANP
NINE HUNPRED AND SIXTY SiX FiFTY FivE
(] THREE HunprEP AND ONE () sixmeen
(2l Five HuNpREY AN sEVEN [ THirTY TWO
(5] TwenTy Two

“NoW WRirE e ¥

ERS
AS w LeFr

I § Res /

Put these boxes in the right order so that the numbers go from smallest to largest/

Nl M| |T ol |A N| |T L o| |E G S
151 |13 1z |9 2 loe| |17 81 |1 23| |55 6| |24
“WHAT pip THE

- BEAcH sAY WHEN,
. THE TiDE CAME iN ©

m
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WWW\( g —T=1=Z)

WORDS (AN BE NUMBERS, THAT'S WHAT TVE HEARD,
S0 WRITE THE NUMBER. EESIDE THESE woaos/g

EigHTY 51X
THREE HUNDRED AND FiFTY TWO
SEVEN THOoUSAND NiNE HUNDREDP AND FouRTEEN
ONE MiLL-iON
FOUR POINT FiVE
TWo HUNDREP ANp SEVEN
FiVE HUNPREp ANP NiNE
SiX THOUSAND 4, TWO HUNDREP
NiNE THOVSAND AND $iXTY ONE
Ei4HT THOUSANP ANP FORTY
TEN THoVSAND AND TEN
THREE MiLLION TWo HUNPREP ANP TEN THOUSAND

A SVPER LHINESE MEAL

3248 84 5 3246 48 B4 3229 44 3248 5 8246 46 30 60 84 75 46 84
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TWENTY TWo ApPPEP To FiFTY THREE
S$ix TIMES FOURTEEN
THE UM OF SEVEN, EiaHT AND NiNETEEN
THE PRopVULT oF FivE ANP TWELVE
THE PRobuULT OF TWO, FOVR AND SiX
THE OiFFERENCE BETWEEN SEVENTY ANP THIRTY EiGHT
ONE HUNPRED ANP FiFTY PiVIiDEDP BY FIVE
THE 3uM OF THIRTEEN 4 THIRTY ANP THREE
THE DiFFERENLE BETWEEN FiFTY ONE ANP FORTY S| x
TWO0 MoRE THAN FovR TiMES TWENTY
ONE LESS THAN NINE TiMES FiVE

lSAwn|v(o(Z|FMm (D




5+2 = 8+|= [+3 = 2+6 = 2+2.=
[ +2= o+tq= 6+3= ot5 = 4to0=
5+56= 4+ | = | +7 = 3+2.= 9+2.=
| +6= |+ = 2+9= 6+te= 2+8=
Oo+tz= 8+ 8= 2+7= 7+2= 4+%=
4+2-= 7tl= 7+7= 5 t+6= O+ )=
4 +te6= 3+4= o+9= 2 tpo= 2+g=
(PON’T FORGET To LORRELT YouR MiSTAKES)
[|+4= 6+8= (H+q= q+9= 25+14 =
4 +1= n+8 = 4 +7= o+13= 25 +18=
13 +8= M+4= 1+3= [4+13= 23+17=
13+ 4= I\+7= (7+9= 13+(7= 38 ti8=
12+8%= 1Z2+3= 4+7 = g+i13= 35 +|5=
le+[= le*t7= 15+3= (7 +19= 26+25=
17+4= |8+3= (7+6= 15+)|3= 29+39=
Now SHAVE iN ANY 5QUARES WiTH WReMg
ANSWERs/
+|(5|18|9|%2|2|4|1n|e|7 |05 |4
VIPYOUMAKE Z| |7 |1o|01 |5 |4 (613819 127 |1
ANW?/ 416 |lo|5]|7 |6 (B Is|lo]ll |I4]4 |I>
¢ o Alio | (781210 |12 |14 |15 |16 |14 |14 |18
elz |4 |55 |8 |1 |17[1Iz[(3]16]|Il |I5
Z{4(a |1l |4|4|53]|8 |9 |iz|7 |15
) . 41|10 [12|13|6 |6 [10]i5 10 |11 [I¥]6 |13
,,'ﬁé%%ygws 61514 |1514 |8 1218 |24 ]14 |16 |9 |15
THE BENEFIT 9F 310|247 ¢ |5 |7 |6 1|5 |13|2|i12
ARITHMETIC. | 7 |2 1 I
I 3 o
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_—K

ARNiING — APDiTioN (AN BE
w‘:pvim\IE.-, BENEFMAL...FW

IIIIIIIIIIIIIIII LEVEL 2 Il..lllll

3 I
z 7
+ 2 =+
3 8
4 7
+2 +3

+
NN ®

LB T |

42 46
+37 +Z3
14 +13=__

1Z+6=

1z
411 4+l 2z
IS+33=

7 9 7
+2 + 4 + 6

3 5 6
+3 8 p -2

8 3 4
+ 8 +49 + 1

(4 5 3
4 4+ z
+3 +6 +7
4 6 8
9 6 5
7 r7 7

15 18 )¢
+13 +11 + 5
35 +24= 17+21=

32 27
20 12
16 20

30+1Z2+I5 =

327
z|

10 rA

42 + 2.2 +[5=

63 32 2
|1 2 1 5 lé
14 |12 1z

16 +12+2)1=___
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‘@@&@AW@@N ~ SUM FEOPLE ARE

WONPERFUL /
Y 8 6 5 A 5
8 8 5 Z 6 6
4 / o 6 6 6
£ 2z _5£ & @ _5 @ _A4
5| 48 84 26 S0 85
42 52 48 60 25 a9
24 88 (6 5 66 77
54 et a3 4z 83 33
COMPLETE THE TABLES
+ 12 | zo 27 | 31 36 49
29
14
35 |
-+ 52 48 29 32 2 17
2.7
51
4 I |

48 |54 |83 |27 |47 |36 |65 |56 |72 |45
49|53 |83|37|47|2¢ |65 |57 |82 |25

8%

sHAPE iN THE 83
43|60 |87 (32|53 (41|71 |60 |78 | 50

88

g1

Bo

MisTAKES To MAKE
AN EVERYPAY ITEM!

ZZ 59 |g8|33 |52|40|70 |51 |78 |41
50|53|84|30|38|36 |46 |58 | 73 |46
50|56 28|50 (39|66 |68 |76 |47
56|62|88|37|56 |28 |70 |64|8( |53
5763|879 |18 |40|44| 6266 |80 |4
52|58 85|32 (45| 41|59 60|76 ||

— -

RERFEEEED
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WEK‘)’S AéKEE"‘T“E/
.. you MVST FPRA- -

~Mpmats,

4 +2=__ 7 +2=-___ 8+¢&=~__ 3 +5=-___ 8

2+2=__5+b6=__ 6+5=-__ 5 +5=___ 9 +z2~__ 6+ 4=-___
8+8=__ ¢+8~-__ 9+5=__ ¢+ +a9=__ 3 +1=-__ 4+i1=-___
7T+8=___ 4+9=__ 34+7=_ 5 +3=-_ 7 +%1=-__ g tz=___
1T+3=__7+0=~__ 9+7=-__ 3 +8=___ 6 +1~-__ 5 +86=___
I5+5=___ 184+2=-_ ¢ +5=___ 1z+b6=___ 1l +7=___ I5 +3=____
l6+7= ___ 11 +6=__ N+9=_ 19 +¢=___ 6 +7=-__ (4 +8-___
I9+3=__ 15¢+8~=___ g +Il=__ 16 +0=__ 9 +16=__ 13+ 4=___
G+12= ___|1B+7= _l6+6=___ 15+ 7=__ 17+4~-_ (3 +9-_
12 +4 = IS+86=__ 19+ 4~- 17+5=____ jz+8=__ 18+ 7=___

5 4 7 3 2 | 9
s 6 5 8 7 7 8
X3 3 7 +3 té +4 +Z
8 4 7 é 2 3 é
6 3 9 9 9 5 4+
+8 t2 + 5 1 *7 + 8 +9
2 5 4 7 5 9 7
2 2 8 7 4 o 8
5 6 6 3 | 3 é
6 4 e 7 6 3 6
+3 4+ + 3 + 2 + 2 + ) + 9
6 9 6 3 9 é B
) 3 wi o 2] 8 5
7 7 4 7 3 7 7
5 ( 3 8 5 4 6
+ 2 15 +r e + 5 + 4 + 1 + 4
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N

THE NVMBER N THE cENTRE,To THE NVMEER, IN EACH SEGMENT /

// e / Tz //////
‘72 cr} // 3al‘i 4-78 ,;'Z
)

NANNNNNNN\N

\\

= Now cOMFLETE THE OVTSIPE RiNg OF EACH ciRUE BY APPiNA E

LLLLLY

IZ 186
Ly 12

/
.-

THESE NUMBERS I 8 7 (4 I3 19 27

=4

Be 17| 2] H.E"'m _ ’_'6_,.7

6 (25

DS
N

+4 =1l +3 =8 I5+I=E I2+¢ =
o +9 = l |+ 6 =12 7 +9= I +8=|
+ =5

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
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CALLULATOR APPITIoN |
= CLAVPDIA CALLULATOR, WLl HELP YoV WiTH

THIS FA4e/
THE FiRST $UMS/ —
244 380 907 59| Ble
+27 +106 +157 +288 +34¢
4123 6328 2479 8060 7589
+2915 +4980 + 756 +987 +4297
~CoMFPLETE THESE TABLES
+ | 119 124 (232|273 | 317 | 216
148
672 | |
MORE svMs 10 so0LVE
3456 1673 3124 1543 2165
465 | 5830 7514 310 1972
+1948 + 4883 +2(46 +5490 +2788

SEE IF YoV 2AN 4ET ALk THESE CogRE-T
IN o MINVTEs /
75 lo 3292 695
179 55 973 I 28

78 76 +846 +831
+85 +490

240D 237
893 5497 8683 &85 195 185
565 288 4187 196 708 714
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L]
Can you do these in less than 20 minutes?

4 -2=__ 7 -s=__ Nl -3=__ 0 -4g=___ 13 -5=__ 15-6=___
7 - 4=-__12-7 =) - 4$=_ 6 -—2=___ 6 -7=_ 8 - 7=___
lo -g=_ _13-9=__2 -0=___ 1§ -9=__ 17 - 1=__7 - 2=___
8 -5=__10~3 =__ I3 -7=__ 8 -4%4=__ 7 —0=__ 13- 6=___
I2-9=___19-e=__ 14 - 2=___ 7 - 5=___z2z0-12=__20- 9=

3 -5=__ 8-12 =___ 19-12=__ 2 —2=___16 - 8§ =__\5 —15=-—_
7 -6é6=__l6 -5 =7 -0=__I5-a-_ 14 -7=_ 13- 9=-__
8§ - 6=-——_ 8 -)=_15-8=__12-8=___|12~-5=2__ 1o -5=___
S -2=___)1S-z2=_w-(=__8 —-6=___ |3 ~2a___ W - 3=___
12 -8=-__M4-6=__7 —-5=__7 = l=__1Z2~-12Z=__ |6 —q—_

=TIME TAKEN.

= Put each letter above the cormrect answer below.

14-5 %
10-5 %

P -20-6 20-7
% // 16 - 16 ’e\&
7 4 3-1 &/
N /%mﬂrfﬂﬁ‘/
HaWVPTHE 17
G rfﬁ‘g’sﬁsso 7
icK 7
9 5 3 7 8 |15 13 2 o é6 1o 1 4 14
4
o6 12
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.—y,g:‘,

ELAINE BERUALS

36 - 4= 96 - 44 = 38- 16 = 39-26 =
21 - |6= 86 -32 = 72 -40 = 75 -63 =
28 -17= 79-56 = 87-35= 99-38=
47-23= 93-40 = 46 - 15 = 74 -30 =
84 —-34= 88-35= 65 -32= 94 - 62 =
59-35= 71-2%= 84-71= 79-27=
488 529 650 789
-236 -307 -420 -573
594 978 672 536
-562 -547 -34 | -2 24

REPLACE EACH ANSNERWITH iT$ LETIER. iN THE

CopEP MESSAGE [
A] 89¢ [L| 79¢ [n] 916 [T] 798 |[s] 461
-222 - 284 -84 476 -154
[R] 465 [v] 797 [p] 867 [E] 398 [L] 556
-335 402 =253 157 —341
a| 887 |N| 326 |9 799
-350 =105 408

p.J. ELAINE ERUAL; “POLTR-L THINK T HAVE IN50MNIA
POLTOR.:

322 q1Z 614 32z 315 221 34| 322 q9i1Z 512 224 537

,”

215 215 24) 241 64 2491 395 24 132

F2z 29) 215 391 315 24|
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- FREAH SYPTRACTION FroM| ELAINE S

43 33
27 C1E
82 74
-58 -39
32 76
-4  -38
74 72
—38  -25

=NoW TRY THi? PUZZLE[S

[R] 34 [I] 82 [3]

TAKEAWAYS TASTE BEST/

62 84 92 83
~46 -37 -27 -56
62 57 38 40
-37 -49 -4 -22
92 70 84 57
-39 -26 -29 -48
8l 38 70 8l
-65 -1 “44 -27
. T ELAINE
“WHAT pip ONE TAILFIFE 547 VAL
W 15 THE OTHER?P ™ .
+7 88
-39 -29
[E] & M] 57

P e e —.

) 372747 55 72 2B B 67 72 59 59 47

— />

6739 7 72 238 &5 67 19

A

MIGHTY MATHS © MAHOBE RESOURCES (NZ) LTD



N YO

CALEULAIOR SUBTIRACTION

— VUSE Mi55 GLAUDIA LALLULATR, ‘“’
10 HELP YN SoWVE bEo |\

‘THE PROBLEMS BELOW/,
%Igmﬁﬂé! ﬁ L
356 480 917 592 846 3
-267 -195 —-357 — (198 — 3582
4123 6238 5305 2918 2345
-203%5 —3(59 - 4276 —1 838 —-587
10000 20000 |0 000 20 0060 2000
-4567 -8765 -93 12 — 11843 -1635
12245 2432 | 43860 loloilolo
-1Z 34 — 4235 -—|0872 —loolo|lol

EE IF YoV LAN GET ALL- THESE. LoRRELT

iN 10 MINVTES /
g6 40 685 52 594
&8 —lov  TZ1a 252 387

|

893 6832 5476 2469 46| 6
“656 —769 ~2388 —875 3727

2—54‘7— 3652—— qo |5 - 876 =

MY $¢eRE iS
¢oRRECT ANY MiSTAHIES(
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=HEAPS MRE SUBTRACTiON To FRACTICE / (REMEMBER TO LoRREGT ANYMISTAKES.)

:i 4 6 el 68 35 57
- — zz - ZI - tE — |D - zE
45 52 7 40
32 2 8
- 27 - 1 & - 26 - 13 -1 5 - 19
58% 462 766 655 962 312
-249417 -235 -129 -1 27 - 44t -205
éz 2 514 417 735
817 4+22
=347 -263 - 242 -—45¢5 -74 -1 57
4 (5 34| zl 2 302
) 417 Z )2
=267 =166 =156 - 294 =259 =165

= Subtract the centre number from the numbers around the circle/

_,,,,/////// T 2.
N e N S

_

z5

77
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~ MORE S i

— U ,
TO SHARPEN YoUR SKILLS,

n 85 4e ¢\ 88 35 57 73 87
- 62 - 22 - 21 - 45 - 1o - 25 - 12 - 41
9 45 sz 7 40 32 28 T4 52
- 27 -1& -_2¢ - 13 - 15 - (19 - % - 17
E 587 462 766 655 9 62 3212 463 633
=247 =-235 —129 =127 =-4%4 =205 -204 =-217
9 622 514 417 735 827 422 635 352
- 347 -263 -—242 -455 =724 -157 -—2466 =177
415 341 212 302 417 212 302 +42
- 267 -—166 -158 -—244 - 259 -—165 —18S =257
- ER THESE
SUBTRACTIONS THEN DECVE
THE QUEST IONS s ////////
Lz /////////////////////////////////////////////// p45
; 5
; 46 515 a+ A 75
é - 25 -2¢08 = 72 -4 0 :
é E— 7””7/////// AIAISILIT Y 77 2 7oemmecnss 2
v Sossss. Vrsoeern s 2
?W////// . 7‘,6;@4512M 5:.2
4017 7 / -245 7 -—16 Z
%W:LZ_L =1L e3 ? z =229 Z Z
/
% orrrr e gyt tissr, ////////////////////// //////////////:
Z ¢ 34 ¢o 873 7
Z 654 _ .
; - 23 -2P8 25 4 _Z'—L: 3
Z "
Z

N
§

7.

= Why do bees have sticky hair 7

366 247 (66 68D 286
= Why do bees hum 7

371 247

€19 539 247 561 26€ 371 247

611 531 247 564

—_—

26 217 4 614
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— — —

22 9 z2nn so

DUPIIV T 10 s 000 000050 IIIIIII I 100 1 1.0 100 1000 S SIAS IS0 00 0 7 5

619 531 227

539 217

1 247 561

20 2171 21 26 37l

168 217 3¢ 3¢¢ 371



O oM O

Nl &

e H @

=Y

.!\w‘

‘N

+ C

’.
[ 4

( ,
2N

4 8 6 5 BP\\“Q
+ 7 + 2 + 9 + 4 + 8 + 6
|5 18 |4 12 (5 17
- 3 - 6 = = 9 =7 = é
| 6 | 2 15 Il e 23 z5
+ 2 + 7 + 3 + 4 + 8 + £
(Y |17 18 22 25 323
4 - 2 e - 7 — 8 -
Z 2 27 25 21 ] é 38
+t3 4 +1 2 + 13 +28 + 21 +1 1

7 28 2¢
-13 - 15 - 11
24 35 28
+ 17 + 26 +13
2 4 34+ 31 24 3z 40
=18 - 26 =15 - 17 - 28 - 23
13 ¢ 224 |48 ) 41 278 | 64
+125 +1 0 7 +123 + 249 +1 19 +129
152 19 2 234 RN | 251 222
-li1¢g -159 -107 -103 =136 =115
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VAXWELL THE MIAHTY MUTIING MAE (2
REZKONG .. MULZiPLicATIoN 15 THE a;

)

KEY To sVecEssl™

— A 1

Riair

~START BY S0LViN& THESE PROBLEMS.
3x4 = 6x7 = 4x9 = g8 =
218 = Bxq = 7 %5 = 6xq =
5x6 = gx2= 4x4 = ) x4 =
4x6 = [ x| = 6x6 = 3Ix2=
Lx5 = Zx2 = 4 x0 = 2x3=
gx| = 3xg = 6% = gx9q =
Zxq= 5x| = 4r8 = 6 x5 =
4 x7 = T XLl = 7%x9 = Ox3=

=Now ¢coMPLETE THE MULTIPLE TABLES/

[x8] 8 [is
LxIO]lo |
]

[X[4]c]2[a]5[8]1]7]0]3
$HAPE|I\L¢LL1HE 216 12|9 18 12|02 150 |9
WWHAWTWY"MET? 6 |20|36]18 54|35 48| 6 |41 |0 |22

" |8 |30|50|16|72|35|65| 8 |65 |8 |24
24|24\ 4 |36|9 (32| 4 |28 |4 |12
s5l6|5|9|8|ie|1|7|1]|3
12|18 |6 |27 |15 |24|3 |29 |0 |9
4|\6|2|0|o|o|o|o|o |0
q |30|7 |40 |20|145(10|45|5 |10
30(11(15(63(35|56|10|49|7 |20
%Lsils BI1145\72| 111639 {30
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' = P = . - y
il
IIIIIIIll..llllll.llllIllIlIlllIIIIIIIIIIIIIIIII

Zx3=—_  4%x4=— 3xB=—__ 9 x2=— _ TxF=—__ 3 x7
qx0=_ _ 4xB=___7x2=___gxB=—_ bx5=___ 12x35___
CxE=____ br2=____ 7x8=__ B8 xb5=__ 6xl=____ 2x27____
8X4=____ Ixb=___ Gxlo=—_ 3x9=—_ 2xlo=_—_ 4xV=___
$x9-_  exB=____q9x9=—_ 2x12=_ 6x8=____ S§x3=___

SAEESEEFREREUESN LEVEL z S ENEEEEESSEEEEEERNNNEEFEEERERER

:

4 2 I 7 2 4 4 é 1 g 2 g7
x 3 X & x 3 x 2 X b X 4 X 3
IBXx2=___ |7x3=____ 23x4=____ |4x2=___ 35x2=____ 6GIx3=_——
lllll| LEVEL 3 lllIllllllllII'lllllllIIIIIIIIIIIIIIIIIIII
242 121 €1 271 415 216
X 2 X 4 x & x 2 x 3 x 4
225 417 s25 66 475 395

x 5 x 6 x 3 x B x & x 7

g v >
AEESREERNEG SRS ERESEENEENEEREERRESSD LE ELﬂ SSEeEGEESEEREERSEBEDR

3493 22| 4+ 4 4 358 z24¢ 371 343
x 17 x le X 22 x 19 x 15 X 23 x47

—_— |
—_—

20

H
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= WRITE THESE SUMS A5
A MATIRLICATION SENTENGES

=THE FIRST QWE iS PONE R yov /

S5+5+5 = 3X5 86+8+8+8 = 4+ 4 =

9+9+9 = FEY STRT XY SN B3 AV RS

7 +7+7+7+7+7+7 =

i,

215

b6+6+6+6+6+6+6+6 =
Multiply each number by 10

/// L LALLM L L L /

8 7 |15 | 8 4 13 |10 |53 | 30

20 | o 3l+2

Multiply each number by 100

L

Ll

(Ll

L

L

2 | 6

15

3

zz

I8

25

7%

lco

316

Fill out the multiplication squares

Muldply each of the centre numbers by the numbers around the circle.

1o
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YES . MAXWELL JUST GETS S0 W2 //
iTED AT THE PROSFECT |
OF MORE MWLTIPLYiNG ./

MAXWELL . THE MiGHTY MULTVFYiNG ., <
) MAJESTICALLY To M- C. APTITON S : ¥
MoSE, HovEs MUTIrLYiING MELopIESY —

|0 x [0 = lox |0x |0 = [00 X |O =
(O x |00 = IOxlox|lox|jOo=__ |0 X |opo =
(00 X |00 = 000 X 100 = 1000 X 1000 =

PRoPVET THINK ANSWER j

70 x40 (7 4)Yx (10 x 10)—

éo x B0 (—_x_)J)x (o x10)—

go x 40 (_»*_)*x(_x__)—__
= Now VSE THE METHoD ABOVE 4 To FiNp THE ANSWERS

BELOW /

60 x 7o q0 x 30
20 x BO 70 x 8o
50 x 90 20 x 90
80 x 30 60 x 30
40 x 60 50 x éo
30 x 50 70 X 20
6o x 60 40 x 40

PRopPVET THINK ANSWER,

20 x 00— (2 xe)x (1o x (o0 )—

30 x 400 — (3 x 4) x (_x ) —

50 x Booo—(_»__) x (__x ) —
WRITE ANSWERS oNLY FoR THE FROBLEMS EELOW
30 x 500 = 70 xB0O0=____ 50 x 8900 =
70x300=___ = g0 x500: Q0 x 4000~
Bo x900=_______ 40 x 600-= 400x 400 =
70 x400= = gox300=______  700x 600-=
30 x 700= S50 x 800o= 600 x 4000 =
40 x 200-= 500x200=<_____ 4q00x 9000 =

qQo x 200 = __ 700X 900 =
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wMUCH (Ve MORE. - .
= o s MULTIFLIGATIN.”

ZxB8=___ 7 x1 =) xl=__5xq9e__3 x3=___ 9 x9=___
7x5<_ 4 x7=__) x8=___11x5=__ 8 x2=__7 x9=___
4x2=___8x8=__ 8 x9=__7 xlo=__ 6 x 6=___ |1 x l=____
Bx1=__6 x2=__9x3=___3 xi1l=—_10x4¢=___|ox 2=___
S5x6=__3 x3=2___ 8 x7=2_4 x4=__ 3 x1=_ € xlz=___
B x5=__10x0= 6 xl =_ 12 xl12=___q9 x B=___ 6 x3=___

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

¢ x =3 x 8 6 x =4 x 9 4 x =3 x Iz
X |2=4 x ¢ x3=9 x 4 lo x 8=20 x
5 x & = X 3 lo % =8 x 5 x2=5 x 4
g8 x -6 x | 42 x 2= x =z 4 x =16 » |
-MUTIPLICATIV X x .
’/- 4|3 4 | i lo| 5
X - X —: X p——
5 | 2 E é6 | 2 , 6 | 8
0 izo ! .

/)

DN

AR
- SSSSS

84 255 427 498 329 265 5i 92 3¢ 75 128 2I5 48

23
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MeRE MULTIFLACATION -WaKE ATor propveT !

—START WiTH THESE PRoBLEMS
26 51 32 93 54 65
x3 x5 X7 *z x& x4
Ziz a0 345 41 173 241
x 3 X5 x 7 xX2Z x4 X 8
~COMPLETE THE MVLIIPLE STieksS
|*22|20 |40 60
de
[xlz
~NoW SolLVE THESE PRoOBLEMSYS
25 43 24 23 55 4z
x| 2 X13 x|l 3 X4 x4 x5
126 785 249 412 587 350
X | O XI1Z X (| X 9 X (2 i |
-~ SHAPE IN ALL
THE $QUARGS
WiTH WR0N4
ANSWERS/
« .
MULT{P LitATieN

~A 516N OF THE

24
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MAWELS

= LOMPLETE THE TABLES ANV WeRKK
ouT THE ANSWERS To THE FRoBLEMS [

f oy

G*7)+|= ___ (7x6)+5=___

X|7 (83049

g (6x2)+0=___ (2x9)+0=___
i (3x4)+0=__ (Sx5)+4=___
2 (BrB)t5=__ (7x8)*4=__
(Zx2)+ 1 =___ (q*x2)+ 7 =

(5x8)+3=__ _(9x5)+5=

(7x3)+3=__ (4qx0)t+t8=

(5*xp)ta4=__ (3x8)+to=

(4X3)+3=__  (Bxe)t7=___
(4x0)+0=___ (8x2)+te=___
(4X9)+3=__ (o*4)t4=__

(A%x0)+8=__ (3 xe)to=___
NoW VSE YOUR, MVLTIPLICATION KNOWLE i
5 P NKNWWEPAEA?;FK-L.M{,
S5 x8=4x_ 5x_=lox3
42Zx| = Tx ____ 7X__=5x77
gx =] x 64 aGx 8 =  x¢
Fx_=35x2 6% 6= 4x— ML o
IZ Xjo=__ %3 6X3 =qx ___ MAWBLAHME
6X4=3x___ lox__ =4 %20
ZXRN2=4x___ 7XI15=__ x3

MIGHTY MATHS © MAHOBE RESOURCES (NZ) LTD
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~ PiViSioN AN
1T WARNIPA = © e NEFIEAL . . FUN- (2

o I AppicTi e
16 £+ 4 =_"—__ 45+ 5=___ 16 +2=____ 2054=___ 22+8=____
5§ +5=__ 63+9 =___ Se+T7=___ 2d+3=___ 14$+2=____
60 TI1I0=____ 8 +9=_ 25+t5=___ 20+ 2=__ & +*6=____
5¢ 6 =___ |0+ 2= 20+ 4+=___ 63+19=___ 20%lo=____
6+ + 8 = 36 : lz= 4“4 T l=__ 42+ 7=___ 2++3=_____
6o + jlo= 35:5=___ 12:+4t=__ 28+2=____ 3+ 7=____

IIIIIIIIIIIIIIILLEVEL %JIIIIICIIIIllllllllllllllllllllll

672 T 6=___ CI5+5=___ 330+ 6=__ 212+4=___
16 + 4= €27 +3=__ 432:8=___ 4262+2=
225+ 5= 1Mt t4=__ lei4¢=__ 8I5+Ts___

1. Divide 768 by 3.

2. What is 420 divided by 7 ?

3. Russell worked for 12 hours and made $72.
How much did he make per hour ?

4. Mrs Amnstrong's class of 30 students raised $240 towards
their class trip. How much did each student make ?

5. There are 200 students and 10 teachers.
If you had to give each teacher an equal amount of students,
how many would there be per class ?

26
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“DIANNE, Do YoV PEFINTTELY
A FiNP’ pivisioN EASY 7> QIE;[ ’

-— .
pWiNE PiANNE

53 = 36+q = THEpIVIPINGPoRMOVEE v

20+4 = S5+ = 60 6= 24+3%=
30+5 = jo+10 = 56<7= 32 4=
6 =8 = 3673 = 2672 = 15 =5 =
I8+6 = 44+4= 63 ~9= 40=+8 =
28=7= 45=5= 8+ | = 36 6 =
14+2= 72 +8= 90 <lo= 4=7=
40 <2 = 27 9= 3= [= S0 +10 =

0)go  6)48 N4z 5)z5 7) 54
4)ie 9) 90 10)60 7)49 5)100
9) 72 ¢) 24 4)28  8)se 10)40

6)4z 9)45 2)22 3Y27 1)8|

How ¢AN WE MAKE pivisioN EASY ¢
PO THESE 3UMS TO PELDE PIANNE’S HEFUL HiNT/

[T 2o (o] ce [Klzoo [¥]ae  [S]
6 (O

3 1Z)192
v| 2z 6z || 8 R| 60 [W
ET‘* 'E]_f I'LJT — T ull)TST
N L P El qi Al
E]g_;:_ E_Zsi D‘—oz_.o' E ~ EIZ—FBZ

(34

50 % 13401613 430 3 244 3I(3 50403

Zo0(l1Z 3011660 94 63 42503 1316
( REMEMBER. TO LORRELT ANY MISTAKES ) 77
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Mmﬁ%mu' N\ /el
- JiNE Di THE PINIPING | 5%,

... DVINE V'ANNgoo A \\
(m,’ ARAZY GVSN / ;'\ A e

8)i088  7)Jis05  e)194t  7)3024
s)840  ¢)i5s48  8)ieso  7)i358
¢Jzza4  g8)z408  7)3255  5)3z85
7N%edl  5)azAs 65706 B)434%

~onnBE 51018 [wle|  [wlw]
pivipiNg "8 ]z I |zel5
SQUARES T, f

L) 136 8 32)255¢0 4)30124 5)3 1210

7)271074 [0)789520  11)283910 12)190872

~SOoME TURILE How po you RECOGNISE RicH TVRILES?
PANER PZZES] Zw —

28 3132492 34 324541

—_— —_— —_— = — — o— — — —
— — — 0

27 32 23 27 3¢ 32 37 32 35 44 25 34 32 45 28 32 49 25
WHAT 15 4REEN % v5ES “SHELL T0 4o 100 km/m €

_— e —— = = _—— e s = == = —_— = =

45 284341283632 31 37 45 2512723412825 35454

336+ 8 K] 2z0-5 (R] 196 +4 [v]z58+¢
IN|zzz+6 T]iz4+4 L) igo=5 ¢|280+8
Egae—:‘f H|z73=7 0| ze7-14 P87
Al 540 -1 T|336-1Z S| 275- 11 E|352 1|

28
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/,,‘32/‘9i,?f‘,’*‘l‘,,“,‘,li’)};"',’,bl,}‘3 .

90 |20 | |10 looo | (600

580

2000 10000

12680

157800

).Bisesammerty 100 i i)

100 |2000|2500|5000|200 |3600| 1500

53000

41600

27)000

|9000000

Divide each number by the one in the centre of each circle.

G

\\\‘\\\\\

A PiViSioN.

_wwnnﬂgzﬁm#wwmﬁlﬁ

ExAMPLEé
‘ IZ+12+12 = 36 36 +3 =12
7+ 7 =14
9+9+9 = 27
5x3 =15
4 x8 =32
‘ 4+ z = +2
I+ $=40 <+
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EALEULATER, DivisioN B

ANOTHER J0B FOK- - .

. Miss clAVPIA = %
Mi5 CALLULATR,
3780 +2|= 6840 + (9=
B54% + |4 = 8150 + 25=
12684 ~26= 4637 —I17=
- COMPLETE THESE MVLTIFLE BOXES
18x543=| I8"}‘i’5=l IBx 262 =
23%456 5| 23%x654=[_] 25111 =
=Now po THESE PDivisioN suMs/
18) 4774 8)ez10 18) 4716
23] 10488 23) 15042 23)43243
24) 87414 34)9¢084 24)49756
20)654300  30)a45600 40) 340840

—THE FiNAL-TEN HAVE A DELIMAL REMAINPER. .
REAP THE FiRST PELIMAL. ALACE AND WRITE THE
LETTER, ABoyE THE NVMBER. iN THE AUZzZLE /7

[c] 352 ~ 14 [E]I571+ 26 [2lq41 + 14

[a] 700 =16 [(N484=15 M 448 <24

[x]8!1 * I8 [R]650 <17 [T]1615 +27

0
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~PO-PA-GRAZY. PiVisioV?

48

- - ——

84| 12 !

2] | 3 g

]
|
1
| '
-

- ek - - -

loo

| Dad shared 12 apples
equally among his 4
children.

How many apples did
each child get ?

Mum shared 80¢ between
4 children.

How much did each child
get?

Uncle Ben shared 27
chocolates between 4
children.

How many did each child
get?

How many were left for
Uncle Ben ?

=DiVisSioN SRHMRES/

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

= |20 |40 |60 |80 24 (3¢ | 48
2
L
>
jo
1]

Find a place for each card. (You can only use each card once.)

2 B EEEE

e+ 2 =1 | 49+7= /100 + 10 = 25+ 5 =
36 + 9 = le = = 8 g2+ = 27 + =q



MAX % Pi TEAM VP T0 BRiNG
YOU MORE OF THEIR . . . 7

@

| 4 | 5 16 17 | 8 19

>4 x5 x6 7 x8 x1

27 124 235 346 |32 240

x 9 x 3 x 2 x Z x 3 x 9
70+ 7 =____ 603 =___ €4<8=__ 422 -=___
8l:9=__ 455 = $0+4=___ s0r6=___
IZ/108 12/ 144 12/192 |2~) 240 lz):seo

2)25¢8  3)4725  4)65432 5)31475

7 378 5 & 780

+ 32 77ttt & 5 243
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\ <

Ty ‘u.\
MMBER. SENTENCE, FoR,

EACH| STATEMENT.
(THE FiRST oNE jS DoME R, you/ 7)

| N
WWWW////W/////////

. Thesumof9and8is17

19+8=17

N

* The difference between 24 and 16 is 8

* 45 is greater than 22

» The product of 6 and 4 is 24

* The sum of 8 and 12 is less than 30

* 8from13is 5§

* 12 and 9 is 21

* Add 7 to 3 and get 10

* 5is less than 24

* Subtract 3 from 27 to get 24

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

* The product of 8 and 5 i equal to the
sum of 36 and 4

* 16 divided by 8 is 2

* 27 is greater than 16

* Multiply six eights and get forty eight

AT T

33



I e SENTEMCES!

: Fill in the spaces with the correct number.
6+ 4 = + 8 T x 2%X____ = 30 (5=4)+3=
(6x6) + =40 9+7 = 3% - ____ 42 =9 — 3
100 - 20 = 40 » lo+tlo = ____ *|o (8x2)+6 = ____
(6x ____)+10=40 (__x10)-5 = 45 Bx(2+6) = ____
4x____x9 =72 (1z+3)+__ =| Zz+(6+2)=____

Now give the correct sign. (+ - X + )

éeO4=z+ ILOB=4- |eO+=2.xz.§
E3(2.6-5)=7<)3. st=5+5 (3*5)Ob=‘l§
E§5<>(3+5)=|3 IOO{4xz)=2 36©4=7Qz§

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

Complete the sentences by using > = or < signs

69|: Q x 7 6 + 5 I 27 9 X9 loo

5'o| | 43 + 4 27 + 5 I
36| 9 x ¢4 z"IBI 27 15 x5 30

36 4 20- 12 l7+z_| 6 * 3 4 -8 6 Tt 6

32 loo - 40 X

2 XK 2 jo xq0 qo* |o
—

15+ 5| |2t 6 IS % o

34
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To find the answer, calculate the missing number in each problem,
then put the letter above that number in the code below.

rq+=i+q+q=__xa T| eve+v6 = = 2
Rlg x12 - ex__ |91e+__=4a8 + ¢
A (8+6)+2 = _—— LV 3 x 2 x = 30
Y| (46-6)+__ = 1 Hl (gx¢)«__ = 56
Plig + 8 =30-__ T\ _ sz-ize2
Viz x a9 =16+

E ___  + 8 =7 * 3
¢
s 7 11 13 e 2 S 2 1 I3 e 9 o 12 I3 3
P
a 2 12 10 2 4 2 4 13°
?I ////////////////////////2///; W //////////////////////////////////%
// f 3ale-1) = / [ (8+3)x6=___ / 2 (5- 2-)"3—__/
Neot % 7 7
%Pyé loxle-4)= /Tl;sxlf—:h Zlé‘i-x(zﬂh Z
/ 2
[ AEURE [} PONEA [ wm,=_§
2:‘ 4x(10-2)= éwf flo- s)ue-_%f (3+o)~+=_é
?/72 51(6++)=_ZD 6x(12- 7)-_/NZ(?-*37‘2-‘—¢
%og(g“f)"3=_/ 7 !“'01'2)— /
im0y // //

o 16 4% 12 16 9 36 9 10 30

24 15 10 o

—_—— e =,

6 66 1€

5 ;- ‘_".\ 2 ’ ,
| $L 3 50 36 s 32 40 20 o

MIGHTY MATHS © MAHOBE RESOURCES (NZ) LTD
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UTA +,—, X oR = 5IGN N EA TO MAKE
Y THE EQUATIONS CORRECT 7 4

S5(3+%5)=13 49-9=8[18 c+2[13=9
(0 3 (2x5) =| 6+8=803 I5x6 [13=30
303(4x3)=48 8&+8=909 6x4 A3=2]
7 O(12-¢)=3 3¢c+4=702Z 7+8 O7=lo
120 (8+2)=48 3xlo=615 3x4 (12224

CR0s5 NUMBER VZZILE —

INN60| <[ 10l =| | +[66] | [=]72]~|8 ;
=W h=x| |- = |x @ - -
| s\=| |= +|7]= 6|+ - 2
) = = 7 =
= = / = = = K/// X =
8 = ’8 - = 8 -
S = - "
+|8[=16 g |4+lez|=| |=[8]|+ =9
~ X = = =
4N\ x|7|= - = +|5)|= 0| - _-_-.
= = - < =W+
+ = = = -
|2t 490 + | t|s0| + = 5
+| |= 4’3& + (29| = 56|+ =| |=
CHRIS |= // — - - = /, + N
RO T4+ |= [ F+1]=]7 | = yoa o
. /i/w% = ) = &\: = =
% 2| = %//L x| 2|=
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/ //'///.//////// Y7/
é Fill in the boxes Lo complele the sums.

2l ¥
% Complete these sentences by wriling
< = or > into each O

6 +FO‘1
iz + 7 O 25
8++O¢1+7_
15 +ZO|0+7
8 +12( 1o +10

—cannfnf THE SQUARES BYA:’WM THE ROWS ANP CoLVMNS7#
e ¥ )

2 |7 | 12 | 16

- ——

1
S |

8|4+ | 9|5

r-—--

ANNNY

CROSSNM ’////
’ ///////////////////////// /////////////////////////
ARoSS

1 3

NA\N

1. Increase 10 by 6. 1. S+6+8 %
3. The sum of 6 and 3. 2. 16+ 12 .
4. Russell saves $25 4. 9 + 25

Beverly saves $11

Graeme saves $2 5.24+25+33

How much is saved altogether?

7. 1+5+1+2

5. Sandy has 27 music cassettes

Jean has 32 music cassettes
Audrey has 25 music cassettes
How many cassettes altogether?

”3/

sy Mafﬁé’é’ﬁf{ﬁ{ﬁ/zﬁfffﬁﬁ{{/{//////////////////////// Y %\ / A /

\\\\‘k\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\



7. Fill in the boxes to comple: AL i
Vi | BT I
17 - = 9 -6 =5
B ...l 16 -8 O 5
cs-2(]-s-s|| 12-6 O 3
- 5 = —-
7 +-8 n-4+ QO 7
22 - 8-
; o-8 () e
[ - 6=
e -_—: ,; -1z O &
e e -1z () e
= 13 -7 O 1
SBTRACTIOVN SRUARES
e * L lo | 7 1z | 8 —“qi 24—,6 T
|zlz ' 5 |® | sls| | |4 ¢ |

NN

srs ///////////////////////////////////////////////////// l 2

1. Teke 12away from 20. 2. 33-16 *

% 5 The difference between 6 and 20. 3. 100 - 10 [° 6

7

é 4. Beverly has $ 100 5.25-10

Z She spends S0 7 8

é How much does she have left? 6. 30-8

% 7. Take 8 away from 20. 7. 32-13 ! lo

% 9. Decrease 30 by 1. 8. 34-20

Z 10. The difference between 40 and 6. 7 Q@ /
7
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= ARITHMETiC APTiTUPE
—VSE YoUR NVMBER $SKills To FiLL iN
EACH 4AP To COMPLETE THE EQUATioNS BELow/

[2+6 = 15+__ (3+8)Y—-4+=__ 13+8 =___*13
l6 +5 = 14+___ (7+9)t__=20 36 —__=20116
[§+__=9 + 6 (9 —3)+__=15 9+ 49 =___+ 8
4 +_=|8r 6 (1Iz+3)-8=_ 6 +45 = 40 t__
6 +9=9+8 (12-8)+3:-___ le+0 -__+ ¢
Now WRITE X ok =+ iN EACH D To MKEEFE’E >
6/\3 =18 24 /\z2 =48 6/N\q -12
4/\q9 =3¢ 706 /N7 =10 e\ 6 = I
18/ Ne =3 60 /\ 10 =600 36/\9 -4
20/\s =100 50/\ 5 =10 +6/N2 - g6
= COMPLETE THESE
CO N BER SENTENCES
100 - j0=9%x__ (4x6)t_—=30
lI6+4 =lo+t__ 3x2x___=30 (3 »7)- 8 =
3xq =2Z2*+t__ (lz+6€6):2=_—_ (6bx6)t—_ =43
26 -8 = __+8 12 +(6+2)=—01—_(4x8)*+9 =
19 +7 = 30 - 6 x(2+7)=—'__ 7x8)-—=49
48 -6 =___+3 (8 x2)+7 = (é6x_)+ 8 = 38
42 +__=9 -3 20 -__=8*Z (—_—»9)-5 =40

- « « AND FiNALLY

X

=

jo

15

20

7
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=QRPERING YOUR

\n

50

9

= MYLTIFLICATIGN

FiRST OF ALLTRY THESE % (REMEMEER

(6 x 2) x 3= € x (2 x 3)= F,”r’,)
(8 x 3) x 2= 8 x (3 x 2)=
(¢ x +) x 3= 6 x (4 x 3)=
(10 x 3) x 8= ox (3 x 8)=
(8 x6) x 2= 8 x(6 x 2)=

Which column was the easiest to work out ?

When you change the order in multiplication does the answer change ?

-NoW TRY THESE / )
- CiRCLE THE EASIEST OMNE To ANSWER.

25 x (1= x 4 )= (25 x12)x 4=
(4 x 25) %lz= (4 > l2)x25=
A short way of multiplying is to group together certain numbers.
; s
xl6 x 2 = 10 x16 8B x 20 x 5 = 8 x Joo

lé6o - goo

= NoW Yov TRY THESE/

x |16 x 5§ = 5 X 22 wx 2= 55 x Fo x 2 =
X Z x 27 = 2 x 50 x 4=__ 5 x 24 x 2 =
x 29 x 25 = 25 X B0 X 4 = 20 x |]6 X 5 =_____
x |18 x 2 = S x 99 x 2 = 17 x 5 x20=
x 67 x 9 = 4 x1lz x25= 00 x I3 x 2 =
X le x |lo= Z2 x67 x 5= It x2 x Soo =

\‘\\\\\\\

/////7////////////////7//r// PR R
7

7 WROSS

1. Theproduc!ofBandZ 1. 4x3

CROSSNMBER

3. Muluply 5 by 9 2. 5x5

13 times 2 3. 23x2

&>

. Eggs are sold in cartons containing 12 eggs. 4. 1x 2x11
How many eggs in 6 cartons 7
5.2x13x3

_ Tennis balls are sold in half dozen packets.
How many balls in 9 packets Y 6. 2x2x11

=2

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
WA
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CROSS ,
NUMBER |- ik

174_ 7.3 584
‘276 0 ’Z q
‘3142

115

N

N
(=]

—FilL iN THE
NVMBERS 4iVEN THE LVES AcRoss /

ACROSS - WRITE iN NUMBER

® S Wy -

(14
1z
13

15
16
17
18
11

PowN - wRiTE vsiNG WeReS_

IS AN MmN

NiNETY FovR

THREE

Ei4qHT HUNDREP ANP FokTy SEVEN

TWo HUNDREP AND SixTy

TWENTY NiNE THOVSAND ANP THiRTY 3EVEN

NiNE THOVSAND NINE HUNPREP AND NiNETY NiNE

THREE HVNDREP ANP FoRTY TWo

FovR HUNPREP AND SEVENTY THOVSAND , NiMNE HUNDRED AND
TWENTY ONE

=
Three hundred and two

5iX HUNPREP ANP FiFTEEN
FivE THOVSANP ANp NiNE
TWo HUNpREP ANV TWO
FiPry EiqHr

NiNETY NiNE

Eiaht thousand nine hundred and Jfﬂortu

Folr thousand and severtu nine

Seven _hundred _and thirty

Two _hundred and thirty /qy\e

Six _hundred and »‘Cortu}’

Nine hundred and twelve

Nine _hundred and e:al\’(

Twey\tu

5 “WHAT pip THE =
B WHEN, 5
* THE TiDE CAME iN .1- 2 3 é 8 q |12 1 17

Write these numbers into the Hexanumber.

ONE HUNPREP ANP TWo

ONE HUNPREP AND ELEVEN

[z Twewe < (2] six HUNPRED Awp EiGHTY TWo

(B Twe THoUsAND S1x HUNPRED [&] six HNPRED AND FORTY FOVR
! AND NINETY SEVEN TEN

(£ THiRTY TWe (3] seven HunpRED AND

NINE HUNDRED AND SIXTY $iX FIFTY FivE

() THREE HUNPRED ANp ONE (B8] sixteen

[ Five NpReD Anp sEVEN @ rikry wo

& wenty Two

one_hundred and one
thirty eight

forty nine

seventy three

nine ﬂ;ousana/ one_hundred and fnrfu

Put these boxes in the nght order so that the numbers go from smallest to larges('

III
--. 55 z4

EALH 5AY
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/,c@ 2

%

- /WM‘? P
- MATHS RAP )%

WORPS (AN BE NUMBERS, THAT’S WHAT T'VE HEARD,
So WRITE THE NVMBER. EESIDE THESE Wows/g
EigHTY 5ix 876
THREE HUNDREP AND FiFTY TWO 352
SEVEN THousAND NiNE HUNPREDP AND FouRTEEN Z ‘ilﬂ:
ONE MiLL-ioN _O_O_O_O_O_O_I
FOUR POINT FiVE ﬂ: 5
TWO HUNDREP ANp SEVEN ZQZ
FIVE HUNDREP ANP NiNE
5iX THOUSAND , TWO HUNDREP b 200

NiNE THovsAND Anp sixTy one _1 06l
040

Ei4HT THOUSAND ANP FoRTY

N THousane avo Ten 10010
THREE MilLLioN TwWo HUNPREP ANC TEN THOUSAND 3 Z|0 00
A SVPER LHINESE MEAL

';Qgé% TONNEOF WONTUNS PLEASE’
3

2 5 324648 B4 3234 44 3248 5 8246 46 30 GO B4 15 46 B4

TWENTY TWo APPED To FFTY THREE ___ 19

51X TIMES FOURTEEN _Bﬂ'—_

THE 5UM OF SEVEN, EiGHT AN NINETEEN 3%
THE PRopULT oF Five AneTweLve 60

THE PRODUCT OF Two, FouR Anp six — 48

THE 0i FFERENCE BETWEEN SEVENTY AND THIRTY EiGHT — 32
ONE HUNPRED ANP FiFTY PiViDED BY FiVE

THE 30M OF THIRTEEN 5 THIKTY ANP THREE

THE DiFFERENCE BETWEEN PiFTY ONE AND FORTYSIx 5
TWO MoRE THAN FouR TiMES TWENTY

ONE LESS THAN NiNE TiMES FiVE

(Z[<[Aw[>][o]z|r[nm]>]

— WP B

ANp Y0

s5+2=7 8+1=1
1+2=3 o+4=4
5+5=10 4+1=5
1+6=7 I+1=1
otz=7 8+8=b
4+2=6b 7*1=8
4te=10 3+%=7

0+7sq

H+4=15 16+8=24 11+9=20
19 «w+7=12

4+(=I5 11+8 =
13+8=21 At4=

13+4=17 11+7=18

'z+5=20 2+3=

le+1=17 16+7=23

17+4=21 18+3=

Viip You MAKE
AN ERROR ? /7

LOOK AND SEE!

23

19+3=122

H
B s

2+6=8 2+2=4
0+5=5 4+0=4
3+2.=5 q+2=|
6+6=12 2+8=10
7+2=9 4+8=I2

I o+)=|

to=7 3+6=9
(PON'T" FoRAET To LORRELT YouR. MisTAKES )

q+9=38 25+14=39
0+13=23 25+18=43
4+3=27 23+17=40

M-¢.AppiTioN i5

ONE auy wHo

THE BENEFIT oF
ARTHMETE |

17+49=26 3+17=30 38+18=56
I5 14+7=26 18+12=31 34+)5=49
15+43=18  |7+19=3b 3¢+25=6l
2l (7+6=13 5+/3=28 29+37=68
Now SHAPE iN ANY 5QUARES WiTH WReMg
ANSWERS/
+|518|4|2|2|4|1n|e|7 10|54
Z|7 10|t |5 |46 132|819 1z|7 |1
4 7|6 |8 15|10l |14]4 |1z
q WA B A
6 14|15 8 \7 |1z (3|16 |11 |15
z " 4 1318 (4 [iz|7
4 1213 b TRICATNE S 13
6 1411514 & 1o 16 15
3 6|5 |7 q 13 1z
7121506014 |1t E [ le
I1le |4 |io|4]|2 |5 1|6 |10

~ ADDiTioN 4AN

WARNiNG 5ENEF“ML"’FUN"'

“ApvicTiVE -

AR
+2 + +
aa B B
3 5 é
+3 +8 6
6 B 2
8 3 4
+8 +49 +1

EssERESEEENERNES LEVEL 2 SEEEESSENEEEEEENEENEENEEEEEEEEDS

3 I 5 8 4 5 2
z 7 o z 4 4+ z
+2 =+ +4 +2z +3 +6é +7
Z 1 44 12 ] 5 12
3 ] 5 8 4+ 6 8
4 7 [ 3 9 6 5
+2 +3 +5 +6 +7 +7 +7
NN 18 16 I/ 20 19 2
42 46 23 (F2 15 18 14
+37 +23 +1 10 +lZ +13 11 -

s
iz S S S}
14+12= 27 1z+6=18 15+¢33= 48 3s5+2¢=59 17+21= 38

32 27 40 37 63 32 2!
20 12 21 z1 1z 15 16
16 20 10 2l 4 12 [P A
68 59 | 9 &89 i 449
sovizvis =/ 42 +22+15= /9 16 +12+21= 49

\AOREAPPITION ~ 50t rEorze ARE

WONPERFUL /

8 8 5 A 6 6
4 / o 6 6 6
£ 9z 5 & 5 4
19 19 [ 19 19 26
51 Nz 84 26 50 85
4z 52 48 60 25 aqq
24 28 6 z5 66 77
54 64 13 42 83 23
171 252 7240 153 224 1294

LOMPLETE THE TABLES
+ 12 Zo 27 31 3¢ 4?
24 4 49 | 56 60 65 73
14 | 26 34 4 45 | 50 63
35 | 47 | 55 62 bb | 7 34
+ [ 5248 [ 39 [ 32 [2% [ 17
27 | 79 | 75 6b 59 | 5l V.8
i 103 ikl 90 83 | 75 68
40 92 | 88 [ 79 | 77 | 64 | 57
EiN THE + |48 |57 |83 |27 |47 |36 |65 |58 |72 |45
?4,":2]'7/\1425 To MAKE il Ed P
AN EVERYPAY TTEM! ‘5 prd = W K
51|88 52 7o
A (UP / ad s [l 73 46
TN | Z152(5¢ 47
%% 8|56\ 6z 6+ 53
WHOLNVES |9 |57|43 P
Toﬁ_p‘p// 4 |52|58 60|76

42
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—ME Sk | FABUARER o 0 +|4|5 |7
0 e 7 L) ON BOXES
L B APPITION 252 |13 161
- ; c +|5 (7|38 2|61(7149
S R R e T ] 2|79 |5|I0] f+|23]|25|26|2¢
212-% s+e=dl cvs-dl 5s45-10 q4,-dl 6+4-10 e |11 13| a|14| §15 384041139 | + |12 |33 |24
a+:-ﬁs+a-_ srs-lbp a3 5404 4,i ali4|16]12]17] |1e[39141424Q |16 284940
7T +8=12 4+9=_19 = - O 7 +1- +z=
W‘_jj;_?j:;_ﬁa J'E:*:'T& «al ] 7]i2] V7 |40424341| |25375844
I15+5a 18+2=- £Vg r5=_1 1z+e=10 11 +7-= 15 +3=
:1;:— :;+::_[Z " +q:;OH +‘-—2_5Ié :7 -23” +B:2; [—Nowamﬂztr THE OVTSIDE RiNgG OF EACH CiRUE BY APPiNG
R A A S MR TN 7. s e o P et/
124+4 = 15+9= 1q+1—73;7 +s-_22u_+a-Z)|s +7-ZS ﬁﬂﬁ‘////////ﬁ%///////éﬁw//
5 7 2 1 q @qpﬁ/@qbﬁ bq%
S L A . Edy ) oy oy
¢ H 4 s . ; p «@ @ %
+8_ r2 +5 e +7 +8 +9_ o
2 4 2L ’B B T T A sexs [T 18 [ 7 [ [ 13 [27
: - : ; ; ; ; @714/3/2161 25|33
5 ) 3 3 [ 3 6
ié L3 w3 ad aead e |
I_ 2—3 Z & E ﬁ _3_6_ Find a place for each card. (You can only use each card once.)
A T R Bl ) R
7 L; * 4 ; ] J +4=ll +5-8 l5+l= |z+s= :
+ 2 + + 5 + + + . :
2 B 2% B3 A& B S cwoeasf [rece a6 (@[T
ESNE EEENEEREEENN PN NEEEREFEUEENAFENEUEERRENUEESESERREREES : +=5 ;
Tv 10
CALLYLATOR, APPiTIoN , V _~
—aLAVPMWwArleLLHﬂPmSV’J,ﬂ, ' " "7 _z%ﬂlg
THE FiRST $UMS/ -— =2 !
24¢ }60 907 59| 5'6 Can you do these in less than 20 minutes?
+217 +106 157 +288 +346 +-2-27-5-Zu-s-8u-y-bu-5-8u-c-1
463 4306 1064 879 62 7-2-B12-7=20-4-L e -2-Fu-,-96-7-1L
4123 6328 2479 2060 7589 ln-g-_2_[;-‘|-iz-ﬂ'_z_lf-ﬁ'_é_H-q=_&7'7-'_§
12915 +4980  +756  +187  +427 o-s-3uo-s-Zis-r-b6-1-b,-0-Lu-c-L
7038 11308 3235 9047 11386 2-a-3m-e-dliw-2-12; 5.2 128 2-a-l
"WMF’-ETE THE&E'MB% 3 - ;-8119— 2 -% 19 - IZ-%Z - 7_'%’5 -8 -§I$ - |5-_§
+ [11aizs]232]273 217 + o [143]z11 [2i5] 216 7"'2 “-5'77_“_"“"_""-’Z's‘q‘g
148 267274'3804’2' 5 4"7 520562630 634'635 8 -~-e=<£L 8 - -__l5-8-_le.-B-_ltlL—F'Zla—5-__
672|791 [798(904-1945/989] |5441665/707(775(779(780 s -2-3s-2-80-1d 6-cc2is-2-llu_-5-8
MORE $vMs To 50LVE z-e-F-e-87-5-25-1-61-2-0 6 -a-L
3450 1673 3124 1543 21865 =T/M,
‘f';:é 583¢ 7514 3110 1972 —Puteachlencrabovcﬁcoﬁc?ﬂssﬂow.
+1 + 4883 +21¢6 +5490 +2788 % /
0055 2377 7% =~ 043 6125 g%% "Ll
1EVutl)
SPEE Vﬁyrssﬁir You 24N GET ALl THESE CogRE-T ”’/f 0 ¢//////////f .
IN 1o MiNVTEs / » ‘ ///4,/ < %/,,,/// -
5 70 75 16 392 615 °® /% 2//”’///// ?
8 58 g1 55 aTs 18 /,//4 % %////// / 7
z 46 78 76 +846 + 5
+5 +2%4 +85 +90 77| 1657 > //// // HoWDiPTHE
20 18 357 737 ? HAIRPRES
310 237 7 "'T0 GET HavE 50
81%2 597 8683 &85 195 185
50,5 288 4187 19¢ 708 114 HE T OOK
1458 885 12870 33l 1243 136 9 5 TTTO:_s 13 /z_IoE 6
. cuT
l MY sexE '3,<g_—MrA&£s — '
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- 3. ELAINE 9 - FREA A i-n:«namvww TASTE BEST/
simeed ‘ 2 43 33 6z 84 92 82
Fr R ' -z27 18 46 37 27 il
36-14=122 d6-44=52 328-16=1212 39-26=13 16 i ﬁ ﬂ hi 2_7
29-16=13 86-32=54 72-40=31 75-63=|1
38-17=2 79-5¢=13 87-35=57 91-38=0l 8z 74 62 57 38 40
47—25=2gb qs-+o=gg +e-c5=gl3 74-30-43-%- -58 -39 -37 -4 -1a -22
84 -34= 88-35= 65-32= 94 -62 = | K3
59-35=24 71-24=55 84-71=13 79-27=51 L4 35 23 . I
488 5249 650 789 22 76 Iz 70 84 57
-236 -307 -4z0 -573 -4 -38 -39 26 -29 -48
252 222 230 216 |8 33 53 44 55 9
76 672 5326 74 72 8l 38 70 8l
-?ZZ —;7 -34 | 224 -38 -25 -65 -9 -44 :%
_32 43 33 3z 56 47 le 29 Z6 5%
REPLACE EACH ANSNERWITH iTS LETIER. iN THE =NoW TRY THi$ PUZZLE! -3 2
ANERITH COPED MESSAGE 1 “WHAT pip ONE THILTIFE, sy S it
Al 89¢ [T| 79¢ [n] 996 (7| 798 [s] 464 THER! = -~
D—zzz E‘-isiv D—ﬂ D—m —|5_+ [®] 34 [I] 82 47 88 72
674 512 92 312 35 27 -3_; -g_j, _275
465 797 ge7 [E] 398 |L] 556 — -— —
@-3_33 .-407_ .—_Zﬁ D‘lﬂ 341 E|l s [M 37 [o] 45
7 A S 2 N || R ]
(a] 687 [N] 326 [e] 744 —==
-350 -los 408 L?j 74 67 @ g0
537 22) 39 2_7 =28 -8
p.T. ELANEERUAL: “POCTRL THINK T HAVE TNSOMNIA ™ il |—5 | 31 1z
HE ‘ 0 1 A LLY
POETOR. %?HE%%—% %z%slzzﬁ—i%%i% 27 47 55 72 28 %%7%—’5?544_7
T0 LOSE SLEEP OVERYS/»” EXHAUSTEDYZ™
322 39) 215 391 315 24| 215 215 24) 24 6 29| 395 2% 132 6739 7 72238 ¢5 &7 19
B v 4
'5( " 16
@Mm s@gfm ?&'4/ tﬁmm SUBTRAGTION To FRACTIGE /) (REMENBER. T0 LoRREGT ANYMISTAKES. ) I
— USE Mis5 GLAVPIALALLULATR, 8589 s A Evn 1P e oy B e e s 7
10 HELP YoV SOWE R Y ‘ 2 4110671813 |81 7110]6
ST THE FROBLEMS BELOW/, s|1]7|3]4|5]I0 4+ |514713
SugTRATING ! g -— + | 218141561 316|584
35¢ 480 q17 592 8463 > (3(4|5[6| /12 |2]/1619|5
_ze7 —-195  -357  -(98 —3582
A 1 | Eesamn Bt
4123 6238 5305 3918 2345 6 [12[I01E[13[17] [e|5]2][0[7
-2035  —3(59 -4276 — 838 -587 ‘ « [I 7|54 82| [e]71412]4
2088 3079 1029 2080 1758 + 1314971161014 s 19164
'ZZ:? 1";’0; Ie o000 200060 2000 85 46 61 @8 35 57
- -—876 -9312 — 11843 -1635 = 62 - 22 =21l - t5 =10 = 25
5437 (1735 688 3157 365 T
4 52 71 40 32 z
12245 2432 43860 | P =27 =1 - z6 = 13 - 15 - 14
S1234 4235 10872  —1eoimres 18 36 45 27 7 q
| | | ' | 20086 32788 qoqoq _584- _:61. _75: —ea‘; __;_;; —i:’z
33/ 227 637 528 5I& 107
SEEiFwVMNﬁM%m%, cza2 sS4 417 _74;;_ _e.;_; 422
i ¥ =347 -—263 =242 = =7 =157
Y a0 685 sz 594 25 25l 5 280 73 26
—i —ﬂ —ﬂ —i _357 _41! _34I _zl?. -soz. __:;_1 _ L;
18 294 6 27 20 48 75 54 58 58 47
8;5 6832 5476 2469 téle — Subtract the centre number from the numbers around the circle/
656 =769 2388  ~875 ~3727 T T3 ///"’
237 6063 3038 1594 889 ﬁ%ﬁ%////ﬁ‘%%
2547-365=1182_ q015 - 876 <8139 (o) % [ o) / bﬂé
_o0r BT BRaSD R
My 5@@;5%_ ) Ddby 2adb /
_ /@9 _ Qe «9%

44 MIGHTY MATHS © MAHOBE RESOURCES (N2) LTD




— MRESIER, criaN

SV TO SHARPEN YOUR SKilLS /——

366

\\\\\\\

s
Why do be:s have su<ik§ hair 7

=Why do bees hum 7

THEY DONT KNOW THE WORDS

619 537 247 561 26 17 4 &4 22 1 217 S0 €19 531 4T 50 217 2| 26 37l

3‘5 247 168 180 286 371 217 €19 531 247 561 166 371 247 531 211 9 247 561 1868 217 36 3¢ 37|

e 0 O

n 85 4e [l 88 35 57 73 87
- ¢2 =22 -2 =45 =10 = - - 4%
23 24 40 43 25 §j gl 43
9‘1257_152— B R R R
18 36 45 27 7 Z% & 35
E _5‘87 _4-57. —_T.Z _-?75_5 _‘761_ '302. ‘450; _:z:s
340 227 63/ 528 5I8 10/ 259 4—%
9 62z sie 417 735 827 412 635 35a B 16 +'§ +'§ e % 25
275 251 /5 280 73 26_'_'_‘)[ 389 /5 18 19 18 22 3l 36
_4ls 311 zlz 301 417 ali 301 #%3 |5 17 16 22 25 53
48 /5 Toi TBE hs 4y 117 & O &+ & B F T %
'WANSWEK THESEENPEWE z2z 27 35 21 35
SUBTRACTIZ iaussrm/vs' s, 2F g uE b a G
845 755
E 515 ‘ 6 -365 #7 z8 2¢ 49 33 35
480 - 15 -1 - _ _
530’; @ | 3 5 # B O A
% 4e2 5z % 24 35 28 4+4 35
/ _"'”7 @;;’ 718 @ M' 2 + + 2 +1 +2 +z|;
gwﬁ g8 W56q 217 £ I - N - -7 S %
2 s crosessosssi,
/ § 534 sﬂﬁ 24 34 21 24 32 40
:J._il -2p8 =18 -—26 =15 - 17 -—28 =

=232
6 8 16 / 4 l7

13¢ 224 148 141 278 164
+125 +1 17 +123 +249 +11s +129
261 341 271 390 343 243
153 19 2 5 z1 z.:l 222

B odog e I

37 33

7w w8
194° & 20

RECKONG..MULTiPLicATIoN j5 THE 5

mwu—wmmmprwmw P,

oy

\LJ/J'/'['L‘ »

-,

KEY To sVeckssl™
P HE’s f
Riaur s
~START BY SoLYiNa THESE PROBLEMS.
3x4=12 6x7=41 4xa =3b sx8-64
2x8=16b 8xq9 =712 725 =35 ex4=54
5x6 =30 g9x2=8 4x4 =|b ) <4 =4
4 x6 =Z4- [x1 = 6x6 -36 3x2.=6
5+5 =125 2x2 =4 4x0= 3x3=9
=1 =9 32x6 =4 6xl =6 7x9=8
3xq4=17 5x1 =5 4x8 =3 6x5=3)
4+*7=78 7x2 =4 7x9=p3 ox3=(

~Now ¢oMPLETE THE MULTIPLE TABLES [
| >8] 8 i [24]32]40 [48]56 64 [72]80 |83 |
[x10] 10720 [30 [40[50 [60 70 [80 [90]100]10 |
[x 1] 0 [22]33[44][55 [66 [77]88 [99 [0 12! |

SHAPE iNALLTHE |X|4[¢(2]9(5(8[1]7 [0 3
MISTAKES / 1 B B B
whar po YeVGET? ' I < 10| < o
MULTIPLICATION IS THE |8 16 |72 8
KEY i X K 2R I
H 1 6 q 17 3
TO SUCCESS 3 12|86 |27)15]|24|3 |a |0 |9
° o|lo|olo|o|o|o
- oW 5 30
;gg{fﬂ% 7 63|35]50 44
gu NG rovmfff 9 |36|54(18 (8145 |72 [ ¢3

2x3-_0 1‘4=_’@5>‘a=&1 c2=18 n+=2_83x7=_2/_
qx0=.g+16=3_27x1=_ﬁ ¢ x8-0% ¢ x5-3012,5-36
sx5-25 602-12 7,8-56845-40 ¢xi-_6 2x2- %
o %2232 1106-66 5x10-40 5 x 9- 27 2x10- 20 4 x11- 44

£59.45 426-48 q,a4-8l 2x12-2% ¢ x8-48 s.3-15

TTLELL] LEVEL 2 |svsunssusus sEsssesusssEEsm

42 lI 61
——lx ——}— —L

126 55 216
1Bx2= <Y 36 17x 5—_L 23x4= 2 14x%x2=

. .
_ SEEESEsEANEEEBESEREBRESEEREES

+z 121 €1l z7l 415
2

316

x X 4 x & x 3 x4
484 484 4888 54-2 1245 1264
225 417 525 616 475 395
x 5 x 6 x 3 x 8 @ x 5 X 7
625 2502 [575 4928 2375 2765
N S AL ,,>
343 12; 4+ 44 358 z4¢ 37/ 343
x 17 x lé X 22 x 19 x 15 x 23 x 47
2401 1326 888 3222 1230 1113 240l
3430 2210 8880 3580 2460 7420 13720
583] 3536 4/68 6802 3690 8533 16121
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=WRITE THESE SUMS A5
A MULTIALICATION SENTENCEY

[ d
=THE FIRST OWVE iS PONE FOR yov /
s+5+5 - 3xs  e+eree - _AXE8 4.4 - 2X4

q4+49+9 = 3x49 4.+’+‘+++=5X_[tzn.vz+zﬂ.-5X2

7¢7¢7‘7¢7v7f7=7—><7 6*6+6+6r£¢6+6~6-8_X6

Multiply each number by 10

1€ |20 |10 |28 | 7 (15| 8 |4 |13 |10 |53 |30 |400|31t2|215| ©

160 |200|100|280| 70 | 150 | 80 | 40 |30 |I00 | 53 |300]4000| 31420| 2150| O

% Multiply each mimber by 100

2 | e I 15| 3 |22 |18 |25 |72 |[l0o | ©

34 |5e0 316 |20 |57

200[600 |00 [I500[300 || 1800 [2500[7200}000q O |3*0055005"5% 5100067

Fill out the multiplication squares
X[(7|4|3|2 X|9|5|4|2 X|5(7|9
¢ Y22418 |12 3|27]15]12| 6 12 |60 |84 |08
2 |l48|6|4 7 |63|135|28| 14 15 |75]105)35
8 |56|3224{ 16| |8 |724032 16| |i1e|50[70|90
1714132 s 1451252010

/// /

YES, mw%i\‘;usrzzrs 22
oA L7 S

. . \
MAXWELLTHE MiGHTY MULTY PRYiNG ., <‘\ 7 \y
iCALLY TO M- C. APTiTIoNS
MAUSE, MOVES MAJESTI! s e ‘,',I= o _ e

/

2

10 x lo = lw lo,\<|0x'0=|000 o0 x |o = IOOO
0 x |00 = 00 |0xl0x|ox|0=' QDXI000=|_0_,0_0_0_
100 x 100 =10.000 1000 x 100~ 1000 x 1000=1,000,000
(PRePYET THINK ANSWER |
70 x40 (7 4y (1o x 10)— _2800 _
60 x BO (bx8)x (1o x 10)— _4800
80 x 90 (8x9)x¢10 x10)— _7200

=Now VSE THE METHop ABOVE 4 To FiNp THE ANSWERS
peLowF

60 x 7o (bx7) X (IOXIO) = 4200 qo x ja(ﬁxil X “lxl_m = 23““

20 x 8o (2x8) x (10xI0) = 1600 70 x 8o (7x8) x (10xI0) = 5600
50 x qp (5x9) x (0xI0) = 4500 20 x 9o (2x9) x (0xI0) = 1300
80 x 30 (8x3) x (I0x10) = 2400 4o 30 (bx3) x (10xI0) = 1300
40 x 6o 4xb) x (10xI0) = 2400 5p 6o (5xb) x (10xI0) = 3000
30 x 50 (3x5) x (10xI0) = 1500 70 20 7x2) x (10xI0) = 1400
co x 6o (bxb) x (I0xI0) = 3600 40 x 40 (4x4) x (10xI0) = 1600

[[PRoPVET THINK ANSWER. |

20 x 600——~(2x &) % (10 % 100)—_12,000
30 x 400 — (3 x4) x (10 = 100 )—~_ 12,000
50 x 8ooo—(5x8) = (10 x 1000 )— 400,000
WRITE ANSWERS ONLY FoR THE PROBLEMS BELOW
3ox500-_15000 70 xgoo- _56000 50 x goco - 400,000
70 x 300 = _21.000 8o x 500= _40,000 qo x 4000~ _360,000
80 x 900=_72000 40 x é00= _74,000 400x 400 = 160,000
70 x 400= _78000 8o x 3oo=_24,000 700 x 600= _420,000
30 x 700-_21000 50 x 8oo=_40000 600 x 4000 - 2,400,000
40 x z00=_8000 500x200-_100000 q00x 9000 - 800,000
qo x 200 = _18000 700x900= _630.000

X X %X X X %

e w22
w MycH (VAT MORE. - » MeRE MILTIFPLAGATION -Maxe ATor promer/
- H —$TART WiTH THESE PReBLEMS/

oo o MULTIALIGATIN/ il T ) <SR
Lx8=ﬁ7xl-lixl‘L5xq-i53*3-q_1%q.& x3 x5 x7 xzZ X6 x4
7x5=\£1x7=_2_8vx&-_&llx5t5_53xz-ﬁ7x1-§§ _7§_ Z__ 214-_ & ﬁ _0_26
tx208 608 0b85x1:727,00-70¢ 023012 ziz 140 345 41 172 241

3)(1-2_7& xz-_12_'i x3-2_73 xn=$mx4-ftomx1-@
Fx‘-ﬁs xB-iB x7=i4 x+=£5 x ’-ié xu-=_7_2
,xg.ﬂ)w,‘asge ,u=6_n.xlz=ﬁ4'q xB=7_26 xs-l

Use your multiplication skills to fill in the spaces.

(,,(_3,(5 sx@-fx‘i +x@=3xlz
: x|z=+xs x3-1x1' 1o xﬂ=zﬂ;
5x6=x3 |o~-a‘s x7-=5!4
E sx-mxu +z..z--<7 +x-|s»|

x 3 x5 x7 x 2 X 4 x 8
636 950 2415 822 092 1928

~COMPLETE THE MVLIIFLE STieKsS
[*22]20 [40] 60 [ 807100 120 [14-0]160]180[200]220]240]

[i6] 16 32 [48 [64]80 [96 | 112 [128] 144] 160] 176 192|
[xi2[12 [74] 36 48] 60|72 [84 |96 [108]120]132] 144
~NoW SolVE THESE PRoBLEMSS

25 43 29 23 55 4z
x| 2 X3 x|l 3 x4 x4 x|5
300 559 507 322 770 630

126 785 249 412 587 350
X |o X1z % [ | x 9 X (2 x 9
1360 9420 2739 3708 7044 3150

X|5|8la|3|z|4(n|6|7|l0|5 |9

v"HAWiNA”- Z|lo|16]18|6 |4 |B (22|12 (14 |20|10 |18
11155&0435 4 |20|32[36]12]8 |16 |44 [ 28] 70| 22 |36
WiTH WNQ, 9 |45 |72|81 (27|18 |36 [l 5+ |63 |90 |45 |81
ANSWERS! A Pt e 5%

« . 2 |to 18 48 [22]12 2 |5 |18

MULT:iPLMAﬂ”’ % 20|32 12| 2 |16 |44 |24 [l 20 22 3¢
~A siaN OFW” A 2 ;e B

TIMES (x°S) 3 B2+ (27|a 122318 |24 |30 |27

7 135156 (63|12 |14 (28177|42 70 &3
15(8|9|3|2|4]|n]e a
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1 WarniNG -
|,-"AppiciVE- -

BENEFIL:'AL per

-a" ms mw’ MV wom IIIIIIIIIIIIIIIIIIIIIII Sl ssEEESEESERASEEEN
OUT THE ANSWERS To THE FROBLEMS [ = ¢ % za-:+=% n:e=_4
X|(7|8|3|0|4|9 (5,(7)_,_‘:&7 v 47 S zmi+3._ /L 4irz-=
AN AR Ay R A - ; S s

0= (zx9)+0 ssieed 0:2-5 20:4-5 :i9:-7 wi0-2
-Zi'zg"‘%-; 82%'547- (3%3)+ 0= Z (Sx5)14 =Ll Z 2828 301122 3 mrn-_4 +L’7=? zr;3=i
214166 0]3]18 (x6)15= B 728y = 60 tori0=_8 s3545= _z; 423 seize b i7-

X|3 |9 cl7e 4 | T sERsssmnues LEVEL 2 |ssssss SassEsEessEEEEEsEmEsAmEEsE
(zxz)+'=%(q‘z)*7sl5_ 26 [18[10 14123 303 + 3200l o242 6= 10% 430+ 4-108 44 142109
(5x8)+3=43 _ (ax5)+5=50 |5 |I5|45/25|35|30| 20 P .- |23 L.
(7x3y+3=24 (qax0)+8=.8 |7 2163354914278 rte=ll a5es-123 304655 2244.53
(Sx6)+4=34 (3x8)+o=24|1[3|9(|5[7|6|4 16+ 42229 027+3=209 455 :8-54 424,223
i T 4 |77/31145]63/541 36 1151545 1m19e36 wergl5E sano i25
4 0 24_ 28 36 IZ 32 (+K3)+3 =£ (6"5)1‘7—'-& ------... ----------------------------------- ssms
1110 |66|77/99 33|38 (fx0)+0=_0_(8>(2)+6=12_
610 /36/42/54{18 48 (4x4)+3=39 (6x4)+4=128 1. Divide 768 by 3. 256
12 0 72 84"0836 qb (axo0)+t8= 8 (3 Xg)to= l%

2. What is 420 divided by 7 ? 60
NoW VSE YouR, MULTIPLiCATiaN KNowwrx/z z’g AL -N,
5x8=4x10_ 5x b - |o xj > How e 610 e ek e end pade $72. 3
42x1=7x b_ 7x5 =5x7
8x8=1x 64 ax 8 =12 x ¢ * Sfe'fr?ﬂ?iiﬁ;’.gﬁﬂfifff&iriffi"ﬁéﬁf:flgffﬁf P
Exl4=35x2 6x6=4x19_ 8
12 %10 =40x3 6x5=19x 2 5. Th 200 stud d 10 teach,
. ere are students an teachers.
6% 41. =3x L ‘ax_8_=4 X20 If you had to give each teacher an equal amount of students
2% |2.=4- x&_ 7x,5=_ﬁx3 how many would there be per class ? ﬁ +Hd6n+s
75w v 26
Z7A’ \Zg

ANNE, Do YoV PEFINVTELY
V' F.m; pivisioN EASY P> 551 </
',

pWiNE PIANNE

5=3 =5 36449 =4_ 'I'HEVNIPIM AN IL;.
20+4 =5 5+ =5 e0x6=10 24+ 5=8
30+5 =b lo+10 =| 56+7=% 32+4=9
6+8=12 3653 =2 26+2=|3 I5+5=3%
18-6=3 44 +4=|| 63 +9=7 40+8=5
28:7=4 45+5=9 8+ 1= 36 +6=06
1++2=7 72+8=9 90 <o =9 4 =<7=2
40+2.=70 27+9=73 13+1=13 50 +10 =5
3 ( REMEMBER. T0 CoRRELT ANY MisTAKES )
S b
10)go 6)48 4z 552? 9) 54
I
T S
7
7F7L 6) 24 4)28 8)se 10) 40
1l
)4’2- 9)45 2)z22 3)27 )81

How ¢AN WE MAKE pivisioN EASY Y
PO THESE $UMS TO PELDE PIANNE®S HESFIL Hmrl

-410 - - -
] 20 4[] seql (K] zo0:20[] 7)1 50 [z] -2
ﬂz_q»b@e; qD;a 2@6060@”32_
I

(] 3240 (L] 2123 ] fOO-SOIE 113 I ;;00
"P_J,_JE_AiL MY L1TT

_EA_L
50 %2 13 40 |6 13 q 30 3 Z 4 5040 3

L E
+ 303
KNOW YOUR MQ _;I'_;_L;_E_L_L_S"’

20 (0 (I 1Z 30 Il & 60 6 13 16

.. PiVINE V,ANNET’f VMVlNé < &
(m:mzymswr) R
136 215 3724 432
8) 1088 7) 1505 )94t 7)302%
168 25 235 19
5) 840 6)1548 8) 1860 7)1358
549 426 46 657
J5AE eliees i sTaes
813 3 951 543
7)569 1 5)4245 6)5706 8)4344

-aomETE alels [ale]7 fwli]20

¢:3=] 33[1] 10 2]5]

684- 8520 753| 6242

Z) 1368 3)7—5560 4130124 5}5!2—(0
4123 78952 25810 15906
7)371079 10)789520  11)283%10 12)170872
oME TURILE SE 7

’sowa&nmﬁl Py e g TR

3932492 35 324549

PEOPLE &LLK SWEATERS/”

27 3z 23 27 36 32 37 323541 25 34 32 452832 49 25
T i5 4 $E5 “SHELL. T° do_100 Km/h ¢ ,
AT 15 (RN e 985 L T B 0K a8

25 284341283632 31 37 Ar; 252723 442825 3545 4

[Yl23e-842 (k] 220544 (R]116-4=4T [v]256+¢=43
[N)zzz+6237 [g]iz+++:=3l ([L])iso=5:=3b [e|280768:35
{w|306+7=34 {n]273:7=37 [o] 2072123 [¢]181-7=27
[A] 540+ +12.245 (1] 33¢+12=28 (8] 275 11=25 [€]s52+11=32
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77777, 2
z Divide each number by 10 %/
60 (40 (20 |10 |580 |l000| 1600 2000 10000 | 12680 |157800

6|14|2]|1 (58|00 160 | 200 |I000 | 1268 |I5780

% Divide each number by 100 //////////////////////////////%

100 |2000|2500|5000|200 |3600| 1500 53000 | 41600 | 271000 (|9000000

| 120l25|50|2 (36| 15 | 530 | 416 | 2710 |140000

Divide each number by the one in the centre of each circle.

Em .%

GALEULATER DivigioN

ANOTHEF JOB FoK-. - @

.. Miss cLAVDIA l.au LR/
3780 2| =_'30_ 6840+ 19= 360 ° V4

8541 = 6= 8:5o+2_5—_32b_ ‘
12684+ 28= 4637 ~17= _86l

~COMPLETE THESE MVLTIFLE BOXES
18 x 543 =[9774] 18~% 345=[620 | 18x 262 =[4716]
23x456 [|0488] 23%654 =[15047] 25~ 17| = [4393]
=Now po THESE PivigioN suMs !

543 345 262
18) 4774 18)ez10 18] 4716

456 654 191
23] 10488 23) 15042 23)4343

Z
7
’3 v qb I 28zl 29
% 34) 87414  34)4c08+ 24)aq756
. 2715 1520 852
~WRITE ¥ pﬁf;fgfw/‘s 20) 654300 20)a45600 40) 340840
B eovics ~ THE FiNAL-TEN HAVE A DECIMAL REMAINDER. .
lz+12+12 =36 36 %3 =12 | REAP THE FiRsT PELMAL RLACE ANP WRITE THE
E7*7‘”’ IPEER ’ LETTER, ABoyvE THE NUMBER. iN THE AUZZLE/
[e) 352 =14 :15] [E]I571+ 26:604(0) 94| + |4-495
[ ava+s-27 2734 | E;ff ‘I‘g'j:gg[:l‘rs" 1};352 [M] 1448 + 24603
x 3 = 3. . ~ 1o 650+ 17-3 1615 +27-598
§x3 =15 [5+3=5 or 1575=3J @1246 21579 G -
4x8=32.32+4=80r32+8=4\ "N_\Oél }‘E‘i'é";‘ 50_N.:PE. _‘E?_é_:?z
14tz = 32 =z2 é s
—— l _S.QML ARE MEAN NOT EXACT/
15+ 5-40 + 2 | 9534 724 3476 658 40718
29w w30
. I Divie ,‘ MAX3 Di TeAM UPT0 BRiNG
|—W M ~CRAZY PiVISIOA’ YOV MORE OF THEIR. . .
;45 8 6 ;64 12.7— _—wa 25 4—_ 2 !
|s 3! 21|3|7 e |s |2 2L Y
‘8::3’ 4141 10:5|2 3x8=24 axz-18 5x3-15 7.6-42
feeuterrenteeareessneeatereererraeenteraneaneenenneranan 4xt=16 5x5-25 7.7-49 ax9- 8
ol among 4 enan P L e pemween 14 e 17 18 B
children. How much did each child | | children. >4 x5 X6 =7 x8 x1
How many apples did How many did each child S6 75 () 19 144 171
each child get ? get? - - — — —
= 3:;6?::;verelcﬁfor 37 124 235 34¢ 152 240
3 x1q x 3 x 2 x Z x 3 x 9
333 372 470 692 396 2160
70:7-10 0 60:3-20 4:5-8 472:2-2
T |20|40]60 00| |+ [12 | 24|36 46| | F |50 100|200 500 gi:a=9 45:5-9  40:4-10 s0:¢-5
2 |10120|30/40| | 2 | 6 |1218 |24 |1 |5 |IO [20|50 9 |12 Ib 20 30
+[5]0]5l20 [ 2]4]8]i12]16] |5 [I0]2040]I00 iz)ios 1z)144 12) 240 360
5|4 |8|12(6|)4|3]619|12]]=z 255000250 1234 1575 Ibﬁ 8 6225
1e| 2| 4 6|8 ¢ l21416|8 25121418 20 2/25¢8 3)4725 4) 65432 5)21475
"""""""" s sl o cwhout, vty womcbctones) s, @, o, O, @,
(G BEEE [ A S 7 S 7/
|6+z= 4'1+7- /aa:-w= zs+5= 50_4_ @—éb .M-S @,75_
: as+'1= |z+=a 1~z:—@=7 7.7+=1
5 “G0O MIGHTY MATH sr~
: 5++@=6 4+ 3iz 77t 4+ 6 5 z%3 7 3785 & 780
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-Wmn‘AMIMBR >
(THE FiRST aNE jS poME iR, yov/ 7 )

_ﬁﬂ#ﬂi”

7

N\
\

* The sum of 9 and 8 js 17. q+a=[7 Z
* The difference between 24 and 16 is 8. 24— — I6 = 8 %
* 45 is greater than 22. %
45 > 22 %
* The product of 6 and 4 is 24, 6 x 4 =24 Z
* The sum of 8 and 12 is less than 30. 8 + 12 < 30 %
* 8from13iss /
3-8 =5 Z
*12and 9 s 21 2 +9 = 2 %
* Add 7103 and get 10 7 +3 =100 /
* 5isless than 24 ?
5 < 24 /
* Subtract 3 from 27 to get 24 27 - 3 = 24'
* The product of § an, is equal to
sumgfi’:jéatndf‘ig 1318 cqual o the 8x5 = 36+
¢ 16 divided by 8 is 2 6 = 8 = 2
* 27 is greater than 16 27 > 16

* Multiply six eights and get forty eight.

6 x 8 =48

16+1‘=_12_*8 3 x 22x_~ = 30

(6~6)+i=+o H'7-33-_Z +z.+_7=ﬂ|—s

100-20 = 40x_2_ Iﬂ"lﬂ-_2_"|0 (8x2)+6 = 22

(6x D )+i10=40 (inw)-;=+5 Bx(2+6) =ﬁ
(n.+;)1-_4'=l |z.-(e+z)=_4'_

SEMWES'

Fill in the spaces with the correct number

(s~t)r3z 23

: Now give the correct sign. (+- X +) :
§6®4'=z+ n.@;=4- I6@+=z_x1_§
5(16-5)=7®3 5@2=5+5 (3‘5)®6=‘I§
§5®(3+5)=l3 IO@H';(;):Z 3‘@4_:7@1;

Complete the sentences by using > = or < signs

65'3 9 x7 le + 5 Hn * Iao

So 43 + 4 27+ 5 E 100 - 40 B

%B Q x ¢ zx|32.7 15 x5 ;o
6t 6

36'-4- 20-12 17 +z 6*3
|;+; 24+ 6 I5% o s*z 1o xq0 B‘W"IO

ELEPHANTS HAVE

PUTA +,—, X oR =+ 5iGN iN EAcH [] TO MAKE
THE EQU/\T iONS CORRECT /

—VIHYW
<0 MANY WRINKLES P 5S4 (3+45)=13 dq-9-5—5 L2 X 3-9
To find the answer, calm:}‘alcthrenx;-::s;\gl:\::r:gﬁjgoc;chpmblem |10 _:- (Z X;) = 16+ 8 - 8 xz '5)(6 _:' 3:30
N menpmmlmiaboz il:“ ﬂ creve= 4 2 3+ (4x3)=48 8+8=7+9 6 x4 —32|
TN Jol e 2as e 9 —(12-6)=3 3¢+4=712Z  9+8 —7-10
sxicer 2 Ul s . 5 30 2X(8+2)=48 3x10=6X5 5x4 X 2724
(m,):z=6 - (“6)'—8 o CR0s5 NUMBER PVZZLE —
(48+6) % — <= - <
4+ 8 =30- 3 1220202 (g :[1o] =6 [ +]66 —Io|=7z+8=7§7
3x‘i=|6+_L = X, - = X ;//—
ﬁ+g=7x3 -15(=|3 63--.7:7 6|+ '=’Z
HAVE »OU EVER TRIED LA E P
o TO LRON ONE ¢ Bz 31=16] (2] 4g-[5[-la
L 4 2z 12 1 2 4 2 3 )( — — -
44 /// 4 //// % /({/ 9 L4
2ale-1)= N7 (8+3)x6=00 (5-2)%3 = — _
1oxl6-4)m £V 20 . Ax(5-3)=_Y 6 4x(2+])= I2 / — — 5
[ 8« ctin5)a F07S) t4-arx5- 0 +u(r«5)-ﬁ'ﬁ'% ' F“t 2.7 T+
= 4x(w—z)=32 flo-6) 6';4- hed (3+1) %4 = 162 /|—- - W
s‘rsvﬂ-i) u ex(12-7)= 30 (2+3) z.-_é = . \r;' 7\\ .
a (5-4)x a—i 3:-“9,1)-36/ / N\ pu
Wi //////////// //// :19]|= 24
NEW - - —
"WNZ‘E’?\EM’P Sel- -8 ][z ]-T7[]7
AR -7 =17 3{7"\;‘#7
WORLD cUP, - T
24 3 !ﬂ 36 s0 32 40 20 =x= =
“le[-[8T-[s /I3 [+T=]-]te
49
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AN

Complete these sentences by wriling 2
y < = or > intoeach O Z Fill in the boxes to complete the sums,
Z

[ s 2
7

= 1z 6 + 5 O 1 7 -[8-al -¢-5

22 12 + 7 @7_5 52—@=3@—7=1 16 -
= 18 g ++(>Da+2 [O-8=-2[8 -5-3 1z -
= I5 |s+z®l0+7 [2-5-72[2 -+-8 I -

% + 18 : 18 +|z@|o t 1o 22 - e=[l4 1o -
¢ + [ 23 8 +Z@62. 5 - ¢-19 15 - 12

+ 12 = 38 q@* + 7 21—=6 18 -1z

/ Fill in the boxes Lo compleic the sums.
%

AN

NEEke
R S
N
I ENI (G
ll
© L N &

VWOOO®O®OW®

34 + 2a = [63 s>z o+ 1 23 - I8 -5 3 - 7
19 - [I8) =1
—COMPLETE THE SQVARES BY APDiNG THE ROWS ANP coLVMNS /¢
r + . T SBTRACTION SRUARES
3|7 |10; 1z [ 16 | 28! 24 | 20 |44 - - - -
+ o + + 6 |+ | 2 to|7 |31 126 | 4 2|16}
8|4 |12 a|s ! 16 |15 : - - - L
T ; 14 3’. zzog 5|2z |3 s|3 |2 ale |3
|22 121 1401 : = ' j '
i [22) 2121142 40{35|75 '4:2[o] (5i5]0] 7i5]2] iKki12]3
CRALY ) (RALY,
SINMBER 7 CROSSNWMBER
,,,,,,,,, Z
ROENZZ T T W) | 92
I Incease 101 & L3 1. Take 12 away from 20. 2.33-16
3 The sumof 62043 zloe 2. The difference between 6and20. 3. 100-10
11 $25 4. 9 + 25
4. %:\s,seeqyssak:s g; 1 5 2042543 4 ?f; verly ‘?: 530100 5.25-10
- en
S:,a\:"r‘:uf:?\"iesssaved altogetner? 1+5+1+2 Hor;vsxr;mch Joes she have left? 6. 30-8
7.145+1+
5. Sandy has 27 music cassettes 7. Take 8 away from 20. 7.32-13
Jean has 32 music cassettes ¢ 3620
Audrey has 25 music ﬁfésiﬁf;w 9. Decrease 30 by 1. .
How many easetes ' 10. The difference between 40 and 6.
6. What is 6 more than 16. -

37w v 38
394”40

= ARITHMETi¢ =ORPERING YOUR
—m SKILLS To FiLLiN —_— MILﬂfWav

EACH GAP To COMPLETE THE EQUATioNS BELoW/ FiRST OF ALL TRY THESE g (ma««;&s ,
lz...é:lsfi (3+¢8) — 4 = 7 |;,5=_8_.,,|5 (6x2)x3=L 6 x (2 x3)=_iﬁ)
16 +5 - 14+_1 (7+0)+ 4 -20 36-0 -20+16 (8 x 3) 2= 48 sx(s x2-_48
s5+0-9+¢6 @-3+9-15 9+49-10+8 (¢ x +2x3=-_72 ex(+ x3)=_72
‘P*ZQ:'E"’G “’_,,5)_5=_7 6+45 = 40 t l! (10 x 3) x 8= 24’0 ox(32 x 8)= 24‘0
8+9:=9+8 (2-8)+3-7 16+0-10+¢ (8 xe)xz- 96 8x(ex2)= 6

Now WRITE X ok iN BACH O To MAKE TRVE ‘Which column was the easiest to work out ? Co/umn 2 ShOU/d be edsier
SENTI ENCES_’ When you change the order in multiplication does the answer change ?
6 X3-18 2?2(1‘1'5 6 X4q-12 —NOW TRY THESE / .
4 X 9 =3¢ 70 =17 =10 6—:—6 = - CiRCLE THE EASIEST OME To ANSWER.
18=—6 =3 60 W 10=600 Zo=ieq - 4 25 x (12 x 4)=_ 1200 (25 x12yx 4= 1200
20 X 5 =100 50 == 5 =10 486% 2 - 96 0] (4 % 12)x25-_ 1200
A short way of multiplying is to group together certain numbers.
o= COMPLETE THESE —_— —
NVMBER’ENTEN‘ES 5 x16 x 2 =10 x 16 8x 20 x5 = 8 x 100
0o -10-9x_10 (4x6)+ 6 -30 el = 8o
6+4-10+10 3x2x5-30 (3x7y)-8-_13 = NOW You TRY THESE S
Z3xq =22+_5 (m_‘.‘)%z:_l“,;é)*lh’ leéxf-ﬂsszx1=_2;O55x§oxz=ioo
26 -8 =WV _+8 12 %+ (6+2) = (4x8)+9-= 5!1&27'2—7013(50)(4"_[@5 xzfxﬂ-'&o
19 +7 = 30 - 4- 5x(z+7)=%_ (7‘5)—1‘441 x 29 xz;=_2qOOZ-$xso x+-8_O_QOzo x 16 xS‘_I6OO
4e+’_61=_3_+3 (6x2)+7 =23 (6~5)+8-38 sox 18 x 28005 x99 x2-990 1 x5 xz20-1700
47 + =9 -3 20-_T =8x7 (_5_»4)—; - 40 2 ,‘e7x5=67o4 x (12 ‘15=”2_oo§00x|} xz=__ISOOO
---ANPFiNALLY % x le xla-qg_ooz. x 67 x5-67o 1T x 2z xSoo-J_{l'_Qoo
x5 [10 15 [20 CROSS-NUMBER L&
7 3570 |105]140 sf )
12| 60120 180[240 peRosS o
1. 4x3
zo loo 200 300 4-00 1. Thepmd\l:lo!!andl ) sas

3. Multiply 5 by 9

4. 13 times 2

+ |13 |46 |78 |119
2538 | 71 103144
52| 6598 [10] I71| oy 0 2
87 1100133165206 FeSTVELY ) TN

5. Eggs are sold in cartons containing 12 eggs. 4 1x2x11
in 6 cartons ?
How many eggs in 6 ¢ . 2emns

9. Tennis balls are sold in half dozen packets.

How many balls in 9 packets 7 6. 2x2x11

50
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